A AL & g =
= * i3 = F
E B|7BBEIE1065 0% B|RREEE)IE
# RTEEREEREREHEIS
1 F|ZUmERE L 2R iR & 7 ¥ m[135 8m
T X X fHBEZIH AR - BT E|FIR A — 5 E AL
M oA B BSF7EI0A98 9EF50% 5 fr| [(BA] EAUHERT MBS ZHREZ
# o7 % BEMESNENRESR 3 = AN ENRERE
yoEE R ¥7,041,000|5 > £5% (a) 0.99944807
REDE R ¥6,506,000|5 ¥ & A%% () 1.00283037
A Al & 2
No BEX (L %1mE %£2m 53 % B
1] (B BRER ¥6,689,000
2|+ HEITE ) ¥6,510,000 EAGHE T (R
3| (B vI—vI% ¥6,499,000 KH&
4 | AR (B) ¥6,513,000 SEALBE 3
5 |&mIE (B) ¥6,510,000 EAGHE 2 (HR)
6| (B) BRI ¥6,470,000 KH&
7| (k) BEEEH ¥6,625,000
8
9
10
11
12
13
14
15
16
17
18
19
20




